AHM— KF— K77 F 2 Arduino ] #If

/*****************************************

AL — N7 — Ml SR A oy F
LCD Keypad Shield {# H

*****************************************/

#include <LiquidCrystal.h>//LCD 714 77V
#include <Boards.h> /LCD 5147V
#include <Servo.h> /Y —RTF AT TV

/*select the pins used on the LCD panel
led D> TV 5 BV E S
LiquidCrystal(rs, enable, d4, d5, d6, d7)
rs: LCD @ RS &' 1Z#%t9 % Arduino |0 B2
rw: LCD ® RW B (29 %5 Arduino IO & 235
enable: LCD @ enable &t/ (ZHEd 5 Arduino Il %5
d0~d7: LCD @ data &'/ (24524 % Arduino filod &35

dO~d3 (XA 7 a T, AT DHE 4ARKDT—4 T4 2 (d4~dD7ET THIE L £9,
LiquidCrystal 1cd(8, 9, 4, 5, 6, 7);

/l define some values used by the panel and buttons
[ftimer2
int pushbutton;
R —
int INTimepattern = 4;
int OUTTimepattern = 4;
int pattern;
int gatelpattern = 0;
int gate2pattern = 0;
/*1=1IN

O0=0UT

cnts = second

cntm = minute*/
I 53 B3R
int Icnts = 0;
int Icntm = 0;
int Ocnts = 0;
int Ocntm = 0;
ery—=>7unvk

int sensorINent = 0;

*/



int sensorOUTent = 0;

IRFFR

unsigned long Itimemillis = 0;
unsigned long Itimemicros = 0;
unsigned long Otimemaillis = 0;
unsigned long Otimemicros = 0;
unsigned long Itimel = 0;

int Itime2 = 0;

unsigned long Itime3 = 0;
unsigned long Otimel = 0;

int Otime2 = 0;

unsigned long Otime3 = 0;
115

unsigned long micros(;
I3 FE] 2 OO A

int IentIN = 0;

int OcntOUT = 0;

IITE#

#define LEFT 0

#define UP 1

#define DOWN 2

#define RIGHT 3

#define SELECT 4

#define NONE 5

#define analogswitch A0

llsensor2 %~ — K 1IN %~— k 20UT

#define sensorl 15 //~"— k1 [EIEEAD720NME 5 (HO)
#define sensor2 16 /7" — K~ 1 [RIERZWNES (AQD)
#define sensor3 17 /I — k 2 [EIEEA D720 E 9 (D)
#define sensord 18 //7"— K 2 [RIEARZWNES (AQ)
int sensorinl;

int sensorin2;

int sensorin3;

int sensorin4;

int INsensorpattern = 0;

int OUTsensorpattern = 0;

int Isensor = 0;

int Osensor = 0;

//A0~A5—D14~D19 ZH#LrlhE

/Iservo2



Servo myservol;

Servo myservo2;

ll

/lproccesing 225X H.
int outTime_m = 12; // OUT =2— X453

int outTime_s = 34; // OUT = — Z:f)

int outTime_c = 56; // OUT =— Xk F )
int inTime_m =01; //IN ==—X%;

int inTime_s = 23; //IN 22— X%}

int inTime_c =45, //IN a2—X:& T

// read the buttons
int button() {
pushbutton = (analogRead(analogswitch) / 4);
if (pushbutton > 240) return NONE;
if (pushbutton < 10) return RIGHT;
if (pushbutton < 50) return UP;
if (pushbutton < 100) return DOWN;
if (pushbutton < 150) return LEFT;
if (pushbutton < 200) return SELECT;
/l return NONE;

void timerOUT() {
sensorOUTpattern();
pattern = button();
switch (OUTTimepattern) {
case 0:
1) 7 5L
Otimemillis = millis();
Otime2 = Otimemillis - Otime1;
if (Otime2 >= 1000) {
Otimel = Otimemillis;
Ocnts += 1;
h
if (Ocnts >= 60) {
Ocnts = 0;
Ocntm +=1;
H
OcntOUT = 05
if (OUTsensorpattern == 5) {



OUTTimepattern == 2;
¥
break;

case 2:
if (pattern == 0) {
OUTTimepattern = 4;
H
break;

case 4:
Otimemillis = millis();
Otimel = Otimemillis;

Otime2 = Otimemillis - Otimel;

Ocnts = 0;
Ocntm = 0;
break;

H
void timerINQ {
pattern = button();
sensorINpattern(;
switch (INTimepattern) {
case 0:
Itimemillis = millis(;
Itime2 = Itimemillis - Itimel;
if (Itime2 >= 1000) {
Ttimel = Itimemillis;
Ients +=1;
}
if (Ients >= 60) {
Ients = 0;
Ientm += 1;
b
if (INsensorpattern == 5) {
INTimepattern == 2;

break;

case 2:

if (pattern == 0) {



INTimepattern = 4;
H
break;

case 4:
Itimemillis = millis(;
Itimel = Itimemillis;
Itime2 = Itimemillis - Itime1;
Ients = 0;
Ientm = 0;
break;

void LCDO {
timerINO);
timerOUTO);
led.setCursor(5, 1);
led.print(Ocntm);
led.print(" ");
led.print(Ocnts);
led.print(" ");
led.print(Otime2);
led.print("  ");
led.setCursor(5, 0);
led.print(Icntm);
led.print(" ");
led.print(Ients);
led.print(" ");
led.print(Itime2);
led.print("  ");

void proccesing() {
timerINO:;
timerOUTO);
outTime_m = Ientm; // OUT =2— &%
outTime_s = Icents; // OUT 22— X%
outTime_c = Itime2; // OUT =2 —&: X U
inTime_m = Ocntm; //IN 22— R:45
inTime s = Ocnts; // IN =2— X%
inTime_c = Otime2; //IN =—X:3X U
Serial.print("H"); I~ 255 R & 7R3 30F)



Serial.write(highByte(outTime_c));// OUT 22— A& o FT — X %15
Serial.write(lowByte(outTime_c));// OUT =t — ;% o FfF — X 415
Serial.write(highByte(inTime_c)); // IN =2— A I U b7 — ¥ 415
Serial.write(lowByte(inTime_c)); // IN == — & I U fb7 — #3415
Serial.write(outTime_m);// OUT 22— A5y 7 — X (5
Serial.write(outTime_s);// OUT 22— A fb7 — % (5
Serial.write(inTime_m); // IN =1— Z;535 — X %15
Serial.write(inTime_s); // IN =t —Z;fb7 — % 2%6(5

Serial.print("¥n');

void sensori() {
{if (digitalRead(sensor1) == LOW) {
sensorinl = 1;
}
else {

sensorinl = 0;

H
{ if (digitalRead(sensor2) == LOW) {
sensorin2 = 1;
}
else {

sensorin2 = 0;

void sensoro() {
{ if (digitalRead(sensor3) == LOW) {
sensorin3d = 1;
}
else {

sensorin3 = 0;

H
{if (digitalRead(sensor4) == LOW) {
sensorind = 1;
}
else {

sensorin4 = 0;



H
void sensorOUTO) {
sensoro();
if (sensorin4 == 0 && sensorin3 == 1) {
Osensor = 1;
H
else {
Osensor = 0;
H
H

void sensorINQ {
sensori();
if (sensorin2 == 1 && sensorinl == 0) {
Isensor = 1;
H
else {

Isensor = 0;

H
void sensorOUTpattern() {
sensorOUTO);
pattern = button();
switch (OUTsensorpattern) {
case 0:
sensorOUTent = 0;
if (pattern==0) {
gateZpattern = 1;
OUTsensorpattern = 2;
}
break;

case 1
sensorOUTent = 0;
if (Osensor == 1) {
OUTsensorpattern = 2;
h
break;
case 2!//1 [B] H @i
sensorOUTent++;
OUTTimepattern = 0;
if (sensorOUTent > 1000) {



sensorOUTent = 0;
OUTsensorpattern = 3;
H
break;

case 3Y/ABIRATY 7 v ¥ o LT b AA »F 2 L Tl
if (Osensor ==1 | | pattern == 3) {
sensorOUTent = 0;
OUTsensorpattern = 4;

break;

case 4://3 [EIHia (2—/L)
sensorOUTent++;
if (sensorOUTent > 500 ) {
if (Osensor ==1 | | pattern == 3) {
sensorOUTent = 0;
OUTTimepattern = 2;
OUTsensorpattern = 5;

}
break;

case 5!// 2 — /L%

sensorOUTent++;

if (sensorOUTent > 1000 && pattern == 0) {
sensorOUTent = 0;
gateZpattern = 0;
OUTsensorpattern = 6;

}

break;

case 6:
sensorOUTent++;
if (sensorOUTent > 300) 1
OUTsensorpattern = 0;

void sensorINpattern() {

sensorINQ;



pattern = button();
switch (INsensorpattern) {
case 0:
sensorINcnt = 0;
if (pattern==10) {
gatelpattern = 1;
INsensorpattern = 2;/1 |29 4UE7 — M idiED> HHIEDS A58
H
break;

case 1:
sensorINcnt = 0;
if (Isensor == 1) {
INsensorpattern = 2;
H
break;

case 2://1 [F] H i1

sensorINcnt++;

INTimepattern = 0;

if (sensorINent > 1000) {
sensorINcnt = 0;
INsensorpattern = 3;

}

break;

case 3YLEIERT Y T v 2 L2 D AA » F 2 L Calim b
if (Isensor == 1 | | pattern == 4) {
sensorINent = 0;

INsensorpattern = 4;

break;

case 4://3 [F] Hif (F—/L)
sensorINent++;
if (sensorINcnt > 500 ) {
if Isensor == 1 | | pattern == 4) {
sensorINcnt = 0;
INTimepattern = 2;

INsensorpattern = 5;



break;

case 5!// T —/)L1%

sensorINcnt++;

if (sensorINent > 1000 && pattern == 0) {
sensorINcent = 0;
gatelpattern = 0;
INsensorpattern = 6;

H

break;

case 6:
sensorINcnt++;
if (sensorINent > 300) {

INsensorpattern = 0;

H
void servoOUT() {
sensorOUTpattern(;
switch (gate2pattern) {
case 0:

myservo2.write(90);
break;

case 1:
myservo2.write(0);
break;

void servoINQ {
sensorINpattern(;
switch (gatelpattern) {
case 0:

myservol.write(90);
break;

case 1:
myservol.write(0);
break;



void setup() {
Serial.begin(250000);
pinMode(sensorl, INPUT_PULLUP);
pinMode(sensor2, INPUT_PULLUP);
pinMode(sensor3, INPUT_PULLUP);
pinMode(sensor4, INPUT_PULLUP);
myservol.attach(3);
myservo2.attach(11);
lcd.begin(16, 2); /I start the library
led.setCursor(0, 0);
led.print("20UT"); // print a simple message
led.setCursor(0, 1);  // move to the begining of the second line
led.print("1IN");

void loop( 1
servoIN(;
servoOUTO);
timerINOQ; /IN =2 — A
timerOUT(); /OUT =2 — &
proccesing(); //proccesing (2 16(
LCDO; //LCD (Z5R

I

a(l

void timeprinter() {
timerINO:;
timerOUT();
Serial.print("IN");
Serial.print(" ");
Serial.print(Icntm);
Serial.print(" ");
Serial.print(Icnts);
Serial.print(" ");
Serial.print(Itime2);
Serial.print(" ");
Serial.print("OUT");
Serial.print(" ");
Serial.print(Ocntm);
Serial.print(" ");



Serial.print(Ocnts);
Serial.print(" ");
Serial.print(Otime?2);
Serial.print(" ");
Serial.print(INTimepattern);
Serial.print(" ");
Serial.print(pattern);
Serial.print(" ");
Serial.println(IentIN);

void sensorprinter() {
sensori();
sensoro();
Serial.print("sensor1");
Serial.print(sensorin1);
Serial.print(" ");
Serial.print("sensor2");
Serial.print(sensorin2 );
Serial.print(" ");
Serial.print("sensor3");
Serial.print(sensorin3 );
Serial.print(" ");
Serial.print("sensor4");

Serial.println(sensorin4 );

void patternkakunin( {
Serial.print(pattern);
Serial.print(INTimepattern);
Serial.println(OUTTimepattern);

§

void sensorkakunin() {
sensoro();
sensori();
sensorINQ;
sensorOUT();
Serial.print(sensorin1);
Serial.print(sensorin2);
Serial.print(sensorin3);
Serial.print(sensorin4);
Serial.print(INsensorpattern);

Serial.println(OUTsensorpattern);



H

void sensortimekakunin() {
sensorINpattern(;
sensorOUTpattern(;
Serial.print(Isensor);
Serial.print(INTimepattern);
Serial.print(INsensorpattern);
Serial.print(" ");
Serial.print(Osensor);
Serial.print(OUTTimepattern);
Serial.println(OUTsensorpattern);

H

void servokakunin() {
servoIN();
servoOUTO);
Serial.print(gatelpattern);
Serial.println(gate2pattern);



